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７．６．１ フレーム法法

n

( ) mn
n

m
n cP −∑−= λλλ

m =1

( )42.70 IA = ( ).70

( ) ( )437/ mAAtrc = ( ) ( )43.7/1 mAAtrc mm −=

( )447IAAA ( )44.71 IcAAA mmm −= −



フレーム法（２）フレ ム法（２）

IcAAA mmm −= −1

( )42.701 =−= − IcAAA nnn ( )1 nnn

( ) ( )4371 1nA −( ) ( )43.71 ncA −=

( )44.7/1
1

nn cAA −
− =



例１１ 次の行列の固有値を
フレーム法で求めよ。

⎤⎡

⎥
⎥
⎤

⎢
⎢
⎡

−−−= 571024
721633

A
⎥
⎥
⎦⎢

⎢
⎣ −−−

=
1748
571024A

1−mA 1−mAA mcm

1 ⎥
⎤

⎢
⎡ 001

⎥
⎤

⎢
⎡ 721633 ( ) 11710331 /c −−=

1

⎥
⎥
⎥

⎦⎢
⎢
⎢

⎣ 100
010

⎥
⎥
⎥

⎦⎢
⎢
⎢

⎣ −−−
−−−
1748
571024

( )
6=

⎥⎦⎢⎣ 100 ⎥⎦⎢⎣ 1748
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